Nominal GDP and Real GDP
The raw GDP figure as given by the equations

is called the Nominal, or Historical, or Current, GDP. When comparing GDP figures from one year to another, it is desirable to compensate for changes in the value of money – i.e., for the effects of inflation or deflation. To make it more meaningful for year-to-year comparisons, it may be multiplied by the ratio between the value of money in the year the GDP was measured and the value of money in some base year. For example, suppose a country's GDP in 1990 was $100 million and its GDP in 2000 was $300 million; but suppose that inflation had halved the value of its currency over that period. To meaningfully compare its 2000 GDP to its 1990 GDP we could multiply the 2000 GDP by one-half, to make it relative to 1990 as a base year. The result would be that the 2000 GDP equals $300 million × one-half = $150 million, in 1990 monetary terms. We would see that the country's GDP had, realistically, increased 50 percent over that period, not 200 percent, as it might appear from the raw GDP data. 
The GDP adjusted for changes in money-value in this way is called the Real, or Constant, GDP.

The factor used to convert GDP from current to constant values in this way is called the GDP deflator. Unlike the Consumer price index, which measures inflation or deflation in the price of household consumer goods, the GDP deflator measures changes in the prices of all domestically produced goods and services in an economy–including investment goods and government services, as well as household consumption goods.[21]
Constant-GDP figures allow us to calculate a GDP growth rate, which tells us how much a country's production has increased (or decreased, if the growth rate is negative) compared to the previous year.

Real GDP growth rate for year n = [(Real GDP in year n) − (Real GDP in year n − 1)] / (Real GDP in year n − 1)

Another thing that it may be desirable to compensate for is population growth. If a country's GDP doubled over some period but its population tripled, the increase in GDP may not be deemed such a great accomplishment: the average person in the country is producing less than they were before. Per-capita GDP is the measure compensated for population growth.
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